


|ψ(0)〉 = |leben〉K |inaktiv〉V A |1〉A

A V A K

t

|ψ(t)〉 = a(t) |tot〉K |0〉A + b(t) |leben〉K |1〉A



ρc = |ψ(t)〉 〈ψ(t)|
ρm

ρc =

(

|a(t)|2 a(t)b!(t)
a!(t)b(t) |b(t)|2

)

#−→ ρm =

(

|a(t)|2 0
0 |b(t)|2

)

|tot〉 |0〉 =

(

1
0

)

; |leben〉 |1〉 =

(

0
1

)

ρm

|a(t)| 2 t
|b(t)| 2 t ρm

ρc ρm



|a(t)| 2

|b(t)| 2





|↑〉 |A↓〉 #→ |↑〉 |A↑〉
|↓〉 |A↓〉 #→ |↓〉 |A↓〉

∣

∣φi
〉

= |ψ〉 |A↓〉 = (α |↑〉 + β |↓〉) |A↓〉

|ψ〉

|φc〉 = α |↑〉 |A↑〉 + β |↓〉 |A↓〉

ρc = |φc〉 〈φc|
= (α |↑〉 |A↑〉 + β |↓〉 |A↓〉) (α! 〈↑| 〈A↑| + β! 〈↓| 〈A↓|)
= |α|2 |↑〉 〈↑| |A↑〉 〈A↑| + αβ! |↑〉 〈↓| |A↑〉 〈A↓|

+α!β |↓〉 〈↑| |A↓〉 〈A↑| + |β|2 |↓〉 〈↓| |A↓〉 〈A↓|

=

(

|α|2 αβ!

α!β |β|2
)

mit |↑〉 |A↑〉 =

(

1
0

)

; |↓〉 |A↓〉 =

(

0
1

)

|α|2

|β|2

ρd =

(

|α|2 0
0 |β|2

)

mit |↑〉 |A↑〉 =

(

1
0

)

; 〈↓| 〈A↓| =

(

0
1

)



|↑〉 |A↑↓〉 #→ |↑〉 |A↓↑〉
|↓〉 |A↑↓〉 #→ |↓〉 |A↑↓〉

|±〉 =
1√
2

(|↓〉 ± |↑〉)

|A±〉 =
1√
2

(|A↓〉 ± |A↑〉)

|±〉 |A+〉 =
1

2
(|↓〉 ± |↑〉) (|A↓〉 + |A↑〉)

=
1

2
(|↓〉 |A↓〉 ± |↑〉 |A↑〉 + |↓〉 |A↑〉 ± |↑〉 |A↓〉)

↪→
1

2
(|↓〉 |A↓〉 ± |↑〉 |A↓〉 + |↓〉 |A↑〉 ± |↑〉 |A↑〉)

=
1

2
(|↓〉 ± |↑〉) (|A↓〉 + |A↑〉) = |±〉 |A+〉

|±〉 |A−〉 =
1

2
(|↓〉 ± |↑〉) (|A↓〉 − |A↑〉)

=
1

2
(|↓〉 |A↓〉 ∓ |↑〉 |A↑〉 − |↓〉 |A↑〉 ± |↑〉 |A↓〉)

↪→
1

2
(|↓〉 |A↓〉 ∓ |↑〉 |A↓〉 − |↓〉 |A↑〉 ± |↑〉 |A↑〉)

=
1

2
(|↓〉 ∓ |↑〉) (|A↓〉 − |A↑〉) = |∓〉 |A−〉

|±〉 |A−〉 #→ |∓〉 |A−〉
|±〉 |A+〉 #→ |±〉 |A+〉



|E1〉 |A↑〉
|E2〉 |A↓〉

∣

∣φi
〉

|E1〉 = |ψ〉 |A↓〉 |E1〉 = (α |↑〉 + β |↓〉) |A↓〉 |E1〉

|Ψ〉 = α |↑〉 |A↑〉 |E2〉 + β |↓〉 |A↓〉 |E1〉

ρc = |Ψ〉 〈Ψ|
= (α |↑〉 |A↑〉 |E2〉 + β |↓〉 |A↓〉 |E1〉) (α! 〈↑| 〈A↑| 〈E1| + β! 〈↓| 〈A↓| 〈E1|)
= |α|2 |↑〉 〈↑| |A↑〉 〈A↑| |E2〉 〈E2| + αβ! |↑〉 〈↓| |A↑〉 〈A↓| |E2〉 〈E1|

+α!β |↓〉 〈↑| |A↓〉 〈A↑| |E1〉 〈E2| + |β|2 |↓〉 〈↓| |A↓〉 〈A↓| |E1〉 〈E1|

=

(

|α|2 αβ!

α!β |β|2
)

mit |↑〉 |A↑〉 |E2〉 =

(

1
0

)

; |↓〉 |A↓〉 |E1〉 =

(

0
1

)



ρr = TrE |Ψ〉 〈Ψ|
=

∑

i

〈Ei|Ψ〉 〈Ψ |Ei 〉 falls 〈Ei |Ej 〉 = δij

= |α|2 |↑〉 〈↑| |A↑〉 〈A↑| + |β|2 |↓〉 〈↓| |A↓〉 〈A↓|

=

(

|α|2 0
0 |β|2

)

mit |↑〉 |A↑〉 =

(

1
0

)

; |↓〉 |A↓〉 =

(

0
1

)

|A↑〉
|A↓〉

{|⇑〉 ; |⇓〉}



{|↑〉 ; |↓〉}

Hint = g (|⇑〉 〈⇑| − |⇓〉 〈⇓|) ⊗ (|↑〉 〈↑| − |↓〉 〈↓|)

=









g 0 0 0
0 −g 0 0
0 0 −g 0
0 0 0 g









g

|⇑〉 |↑〉 =









1
0
0
0









; |⇑〉 |↓〉 =









0
1
0
0









; |⇓〉 |↑〉 =









0
0
1
0









; |⇓〉 |↓〉 =









0
0
0
1









|Φ(0)〉 = (α |⇑〉 + β |⇓〉) ⊗ (A |↑〉 + B |↓〉)

= αA









1
0
0
0









+ αB









0
1
0
0









+ βA









0
0
1
0









+ βB









0
0
0
1









|Φ(t)〉
|Φ(0)〉

! = 1

|Φ(t)〉 = exp {−iHintt} |Φ(0)〉

=









e−igt 0 0 0
0 eigt 0 0
0 0 eigt 0
0 0 0 e−igt









|Φ(0)〉

= αAe−igt









1
0
0
0









+ αBeigt









0
1
0
0









+ βAeigt









0
0
1
0









+ βBe−igt









0
0
0
1









= αAe−igt |⇑〉 |↑〉 + αBeigt |⇑〉 |↓〉
+βAeigt |⇓〉 |↑〉 + βBe−igt |⇓〉 |↓〉

= α |⇑〉
(

Ae−igt |↑〉 + Beigt |↓〉
)

+ β |⇓〉
(

Aeigt |↑〉 + Be−igt |↓〉
)

= α |⇑〉 |E⇑(t)〉 + β |⇓〉 |E⇓(t)〉



{|E⇑(t)〉 ; |E⇓(t)〉}
{|⇑〉 ; |⇓〉}

ρ = |Φ(t)〉 〈Φ(t)|
= (α |⇑〉 |E⇑(t)〉 + β |⇓〉 |E⇓(t)〉) (α! 〈⇑| 〈E⇑(t)| + β! 〈⇓| 〈E⇓(t)|)
= |α|2 |⇑〉 〈⇑| |E⇑(t)〉 〈E⇑(t)| + αβ! |⇑〉 〈⇓| |E⇑(t)〉 〈E⇓(t)|

+α!β |⇓〉 〈⇑| |E⇓(t)〉 〈E⇑(t)| + |β|2 |⇓〉 〈⇓| |E⇓(t)〉 〈E⇓(t)|

ρr = TrE |Φ(t)〉 〈Φ(t)|
=

∑

i

〈i |Φ(t)〉 〈Φ(t)| i〉 〈j |i〉 = δij

= |α|2 |⇑〉 〈⇑|
∑

i

〈i |E⇑(t)〉 〈E⇑(t)| i〉 + αβ! |⇑〉 〈⇓|
∑

i

〈i |E⇑(t)〉 〈E⇓(t)| i〉

+α!β |⇓〉 〈⇑|
∑

i

〈i |E⇓(t) 〉 〈E⇑(t)| i〉 + |β|2 |⇓〉 〈⇓|
∑

i

〈i |E⇓(t) 〉 〈E⇓(t)| i〉

= |α|2 |⇑〉 〈⇑| 〈E⇑(t) |E⇑(t)〉 + αβ! |⇑〉 〈⇓| 〈E⇓(t) |E⇑(t)〉
+α!β |⇓〉 〈⇑| 〈E⇑(t) |E⇓(t) 〉 + |β|2 |⇓〉 〈⇓| 〈E⇓(t) |E⇓(t) 〉

= |α|2 |⇑〉 〈⇑| + αβ! |⇑〉 〈⇓| 〈E⇓(t) |E⇑(t)〉
+α!β |⇓〉 〈⇑| 〈E⇑(t) |E⇓(t) 〉 + |β|2 |⇓〉 〈⇓|

=

(

|α|2 αβ! 〈E⇓(t) |E⇑(t)〉
α!β 〈E⇑(t) |E⇓(t) 〉 |β|2

)

r(t)

r(t) = 〈E⇑(t) |E⇓(t) 〉
=

(

A!eigt 〈↑| + B!e−igt 〈↓|
) (

Ae−igt |↑〉 + Beigt |↓〉
)

= |A|2 ei2gt + |B|2 e−i2gt

= cos (2gt) + i
(

|A|2 − |B|2
)

sin (2gt)

r(t)

|r(t)|2 = cos2 (2gt) +
(

|A|2 − |B|2
)2

sin2 (2gt)

r(t)
|r(t)| ≤ 1



Hint = (|⇑〉 〈⇑| − |⇓〉 〈⇓|) ⊗
N

∑

k=1

gk

N
∏

i = 1
i .= k

1i ⊗ (|↑k〉 〈↑k| − |↓k〉 〈↓k|)

gk

|Φ(0)〉 = (α |⇑〉 + β |⇓〉)
N
∏

k=1

(Ak |↑k〉 + Bk |↓k〉)

|Φ(t)〉 = α |⇑〉 |E⇑(t)〉 + β |⇓〉 |E⇓(t)〉

|E⇑(t)〉 =
N
∏

k=1

(

Ake
igkt |↑k〉 + Bke

−igkt |↓k〉
)

= |E⇓(−t)〉

ρr =

(

|α|2 αβ! 〈E⇓(t) |E⇑(t) 〉
α!β 〈E⇑(t) |E⇓(t) 〉 |β|2

)

mit |⇑〉 =

(

1
0

)

; |⇓〉 =

(

0
1

)

r(t) = 〈E⇑(t) |E⇓(t)〉

=
N
∏

k=1

(

|Ak|2 ei2gkt + |Bk|2 e−i2gkt
)

2N

{|j〉 = |↑1〉 ⊗ |↓2〉 ⊗ · · · ⊗ |↑N 〉}
r(t)

r(t) =
2N

∑

j=1

pj exp {−i2ωjt}



pj = |〈j |E(t = 0) 〉|2

|E(0)〉 |j〉 ωj = 〈⇑| 〈j|Hint |j〉 |⇑〉

r(t)

|r(t)|2 =
1

2

2N

∑

i,j=1

pipj cos {2(ωi − ωj)t}

〈

|r(t)|2
〉

= lim
T→∞

1

T

∫ T

0

|r(t)|2 dt

=
2N

∑

j=1

p2
j + lim

T→∞

1

2T

∫ T

0

2N

∑

i, j = 1
i .= j

pipj cos {2(ωi − ωj)t} dt

=
2N

∑

j=1

p2
j

=
N
∏

k=1

(

A4
k + B4

k

)

A4
k + B4

k < 1

{|⇑〉 ; |⇓〉}



x

x

|x〉 |Φ0〉 → |x〉 |Φx〉

|Φx〉
|x〉 |Φx〉

|Φx〉 |Φx′〉

ρ(x, x′) → ρ(x, x′) 〈Φx′ |Φx 〉

|x − x′|

〈Φx′ |Φx 〉 =

{

0 falls |x − x′| / λ
1 − O

[

(x − x′)2
]

falls |x − x′| 0 λ



Λ cm−2s−1

ρ(x, x′, t) = ρ(x, x′, 0) exp
{

−Λt(x − x′)2
}

Λ

Λ =
k2σeffNv

8πV

k σeff

Nv/V

i
∂ρ

∂t
= [Hint, ρ] +

∂ρ

∂t

∣

∣

∣

∣

Streuung

Hint = p2/2m
! = 1

i
∂ρ(x, x′, t)

∂t
=

1

2m

(

∂2

∂x′2
−

∂2

∂x2

)

ρ− iΛ(x − x′)2ρ



∆x dx

i
∂ρ(x, x′, t)

∂t
=

[

1

2m

(

∂2

∂x′2
−

∂2

∂x2

)

− iΛ(x − x′)2 + iγ(x − x′)

(

∂

∂x′
−

∂

∂x

)]

ρ(x, x′, t)

Λ
γ

Dekohrenz

Reibung
=

Λ

Γ
∆x2

Λ = mγkBT/!2

Dekohrenz

Reibung
=

2mkBT

!2
→ 1040

∆x dx

ρ(x, x′) =
1

2

[

χ−(x)χ+(x′) + χ+(x)χ−(x′) + χ+(x)χ+(x′) + χ−(x)χ−(x′)
]

χ±(x) = 〈x |±〉 ∼ exp

{

−
(x ± ∆x)2

4dx2

}



t = 0


